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LWH3.0 B3 v1.4.20

1 EEFN

i XML A& e He . SN 4 Blits TE R TR . 5 fe 5 815 MR

H3 7N TCP, i IERINA “5464

AN ER IR 7 i A IR 54, 1 SREE v o 2% 7 o, ZEAARIN e b S, 2% i nT LUd i Py
R SRS IE B 1. AN S, 2. WS+ S MEi0, 3. VIN S, 4. K
WK o WHEIREL 26 A 2 2505500 2, RS54 [B] PRTRS D 5 Ry il — R Bl , 9%
L FEAT I ], 2 7 vty T LTSI B ] S0 B A 75 R 45 5

2 4N

B KA XML ¥ f&8. 5 NGB ST URLEncoder B utf-8 #%3 (FLiig
¥4 URLEncoder. encode (xm1Doc, “utf-87);) JoH-HF3Em XML X #Y.
U2 TRTEND, BARRIME OB AERE 5 155 R0 AS Rl E RS TR PR S H

2.1. B umiEsR

EWE
Message Device="% Fiilit” OutlookID="">
{Request Name="1HRm&% ">
<Row>
IZENOEvel
</Row>
{/Request>
<{/Message>
T PN P TP port” (ATLIAA)

2.2. MREINE

A5 AR AR & P o I R e, BA XML AR . Fl8 i R a2 A
LSV IR
Message Device="% " uiithhik">
<{Respond Name="M N fiy 24" >
<{Row>
{Result> </Result>

=l
=
X

<{ErrorMessage></ErrorMessage>
AR E AR RS
</Row>
</Respond>
{/Message>
VE: Result:1 (AED 5 -1 CRIO



ErrorMessage: 53R 2 W iR
2.3. 7% i anAe] ) i 55 A5 BRI S5 R

EIS )X 48 AR B A e IR 55 28 R 1048 BN, FE AR & O 4 Rk 5 B ags
o XAl 2RI E] “</Message>” KHWr. RILE] T “</Message>” , NIBEARS
SRR A 15 B O & 5e BRI

3 XML &=\

3.1 VEMER
GERE: PR T utf-8 gwiid)

(D)W EBE N (AR TR A (s S A iz ek A, DL RN £ 445
S D
Message Device="" OutlookID="#MUIs 465" >
<{Request Name="LoginVehicle”>
<Row>

{License >%eb%b7%9dA160708</License>
{TestType>0</TestType>
{LicenseType>01</LicenseType>
{LicenseColor>02</LicenseColor>
<VIN>5645654</VIN>
{VehicleType>H11</VehicleType>
Owner>Z 3, KAWLS, fIFA S
</Owner>
{TractorLicense>
{/TractorLicense>
{LwhIsTest>Y</LwhIsTest>
{HeaderIsTest>N<{/HeaderIsTest>
{WheelDistancelsTest>N</WheelDistancelsTest>
{KerbMassIsTest>N</KerbMassIsTest>
<{Length>1000</Length>
<Width>1000</Width>
<{Height>1000</Height>
{HeaderHeight>0</HeaderHeight>
<{VanLength>1000</VanLength>
<VanWidth>1000</VanWidth>
<{VanHeight>1000</VanHeight>
{KerbMass>0</KerbMass>
<clpp>f#Ii</ clpp>
{fdjh>0123</fdjh>

MaximumMass>0</MaximumMass>



{WheelDistance>////</WheelDistance>
{isCrane>N</isCrane>
{isBlackOrSmallCar>N</isBlackOrSmallCar>
<{removeHandle>N</removeHandle>
{removeTruckPlate>N</removeTruckPlate>
{removeTrailerShelve>N</removeTrailerShelve>
{removeTrailerWaterTank>N</ removeTrailerWaterTank>
<{removeTarpaulin>N</removeTarpaulin>
<YL1/>
<YL2/>
<YL3/>
<YL4/>
<YL5/>
<CCRQ> ) HH (#%3(: yyyy-MM-dd) </CCRQ>
</Row>
{/Request>
{/Message>
{Message Device="">
<{Respond Name="LoginVehicle”>
<Row>
{Result>1</Resul t>
{ErrorMessage>
{/ErrorMessage>
</Row>
<{/Respond>
<{/Message>
AR
Length, Width, Height 73R 4= K 8 m i, W 2R 2271 & GB1589 [RAAMS, ]
PATEARAE(ELIS TN b “x”, x A&XF R GB1589 s KBRAH, UnZEifdnif K 5 2 8999 X
25002700, GB1589 [¥fx K FRAH /& 9000 X 2550 X 4000, I T RIzUES KL, WK A

<Length>8999</Length>
<Width>2500</Width>
<{Height>2700</Height>

<Length>8999 |9000</Length>

<Width>2500]2550</Width>

<Height>2700|4000</Height>
At BT AR
IsCrane:J& 75 4 i1 46



IsBlackOrSmallCar: /2 3 & /M4 B, ZRNRHRE
removeHandle: 51 % T4
removeTruckPlate: 51 4 07 427 K5 it
removeTrailerShelve: J1 4 +E 4 £ 42
removeTrailerWater Tank: 51 4 4 45 /K 46
removeTarpaulin: 51 [k B¢ 4 1 FY & A7

YL1~YL5: i

IR [l 4

Result ErrorMessage HE

1 TEN

-1 B A S B

-1 ZAMA I S OAFTE, DRESH

-1 ARG 5 A e A

-1 B bvi - adhell N0

-1 G/ W ST

-1 O EARER AR 1R

] e . R ¥E ErrorMessage HAK(S
Bkt AT b

QEZ AT (A 3R IN I 4 2245 L W D
Message Device="" OutlookID="#MUis 565" >
<{Request Name="LoginTrailer”>
<{Row>

{License >%eb%b7%9dA160708</License>
{TestType>0</TestType>
{LicenseType>15<{/LicenseType>
<VIN>5645654</VIN>
<{VehicleType>H11</VehicleType>
<Owner>
</Owner>
{TractorLicense>
{/TractorLicense>
{LwhIsTest>Y</LwhIsTest>
{HeaderIsTest>N<{/HeaderIsTest>
{WheelDistancelsTest>N</WheelDistancelsTest>
{KerbMassIsTest>N</KerbMassIsTest>
<{Length>1000</Length>
<Width>1000</Width>
<{Height>1000</Height>
{HeaderHeight>0</HeaderHeight>
<{VanLength>1000</VanLength>
<VanWidth>1000</VanWidth>
<{VanHeight>1000</VanHeight>
{KerbMass>0</KerbMass>
<clpp> i</ clpp>




{fdjh>0123</fdjh>
MaximumMass>0</MaximumMass>
{WheelDistance>////</WheelDistance>
{isCrane>N</isCrane>
{isBlackOrSmallCar>N</isBlackOrSmallCar>
<{removeHandle>N</removeHandle>
{removeTruckPlate>N</removeTruckPlate>
{removeTrailerShelve>N</removeTrailerShelve>
<{removeTrailerWaterTank>N</ removeTrailerWaterTank>
<{removeTarpaulin>N</removeTarpaulin>
<YL1/>
<YL2/>
<YL3/>
<YL4/>
<YL5/>
<CCRQ>HH ) HH (#%38: yyyy-MM-dd) </CCRQ>
</Row>
{/Request>
{/Message>
{Message Device="">

<{Respond Name="LoginTrailer”>

<Row>

{Result>1</Resul t>

{ErrorMessage>

{/ErrorMessage>

</Row>
<{/Respond>
<{/Message>
LR
W b= EEWY.
IR [A] 55 5 .
Result ErrorMessage &
1 T
-1 AT AR R B0
-1 ZAMR S S OAFE, ARES
-1 AUk 5 AN RE 9 A
-1 b AT
-1 xR
-1 O FMER SR
A e : H¥E ErrorMessage EAR15
SRBEAT AL R




3.2 JFuRI &

(L)FFUE A (HE FHED
Message Device="" OutlookID="#MUis565">
<{Request Name="StartTest” />
{/Message>

{Message Device="">

<{Respond Name="StartTest”>

<{Row>
{Result>1</Resul t>
{ErrorMessage>
{/ErrorMessage>
</Row>
<{/Respond>
{/Message>
IR
IR [A] 55 5 .
Result ErrorMessage &VE
1 FRI T 46 &
-1 AT AR B
-1 B EAER RS R
(2) s = IDAS I (SRS D54 2R ARSI )
Message Device="" OutlookID="4MW555 5" >
<Request Name="StartTractorAndTrailerTest” />
{/Message>
Message Device="">
<Respond Name=" StartTractorAndTrailerTest”>
<{Row>
<Result>1</Resul t>
{ErrorMessage>
<{/ErrorMessage>
</Row>
</Respond>
{/Message>
e
IR [H] 25
Result ErrorMessage HE
1 FRI T A I
-1 BAF AR R 5]
-1 BHEEER
-1 BHEERER




3.3 fubilE
VER: EHERBCNINT, AN 5 1% 32 A AR I

Rik:
Message Device="" OutlookID="#FUA 465" >
<Request Name="StopTest” />
<{/Message>
{Message Device="">

<Respond Name="StopTest”>

<{Row>
<Result>1</Result>
{ErrorMessage>
<{/ErrorMessage>
</Row>
</Respond>
<{/Message>
R
R [ 45 5L
Result ErrorMessage B
1 BRI b &
-1 AT AR B
-1 A EER SR

3.4 WM&

TR, S I 54 32 42 AR -5
K%
Message Device="" OutlookID="#FUis 565" >
{Request Name="AbandonVehicle” />
<{/Message>
{Message Device="">
{Respond Name="AbandonVehicle”>
<{Row>
{Result>1</Resul t>
<{ErrorMessage>
{/ErrorMessage>
</Row>
<{/Respond>




{/Message>

Ui B«

IR A 5

Result ErrorMessage HE

1 IDR8)) EnRE=
-1 BAT AR S B

-1 WA ERER TR 81 3R

3.5 B RUIRES

FHFRES,  FHEER AL S 7 i
Rk
Message Device="" OutlookID="4W555 5" >
<Request Name="ReadTestStatus” />
<{/Message>
B
Message Device="">
<Respond Name="ReadTestStatus”>
<{Row>
<Result>-1</Result>
{ErrorMessage> 4 IEFEAG I *H</ErrorMessage>
{status>-7/-8/-9</status>

</Row>
</Respond>
<{/Message>
Bi
iR [H] 25
Result ErrorMessage status HiE
! Kol 5
-1 YA R R Bl
-1 ARy R
-2 ZE 5 EAEA I [ Result
-3 LNy ANE S
-4 LR TITRYANE S
-7 PRAFEE RN
-8 K Zh FICRL
9 T E R R
BHTHE

3.6 BEHUAE RGN &5 R

R IR A i 73 5 A 2 4R (0 ARSI 5 A 2 P A AN 5 SR 3 H




KIE:
Message Device="" OutlookID="#MUiis 565" >
<{Request Name="ReadTestResult” />
{/Message>
{Message Device="">
<{Respond Name="ReadTestResult”>
<{Row>

{Result>1</Resul t>
{ErrorMessage>
{/ErrorMessage>
{Length>5136</Length>
<Width>1796</Width>
{Height>1943</Height>
<{VanLength>
{/VanLength>
<{VanWidth>
<{/VanWidth>
{VanHeight>
{/VanHeight>
{LeftHeaderHeight>
{/LeftHeaderHeight>
<{RightHeaderHeight>
{/RightHeaderHeight>
{WheelDistance>3410/////3410</WheelDistance>
<KerbMass>
{/KerbMass>
<{LengthJudge>
<{/LengthJudge>
<WidthJudge>
<{/WidthJudge>
<{HeightJudge>
<{/HeightJudge>
<{Header Judge>
{/Header Judge>
<{WheelDistanceJudge>
<{/WheelDistanceJudge>
<{KerbMassJudge>
<{/KerbMass Judge>
<(Total Judge>&#4</Total Judge>
{TestTime>2016-07-08 16:42:27</TestTime>
<{QclcLength></QclcLength>
<QcleWidth></QclcWidth>
<{QclcHeight></QclcHeight>

10



<{/Row>

<{/Respond>

{/Message>
IR
A EIESP
Result ErrorMessage HE
1 SREUKTH
-1 G ESEE
-1 VA A Bk A

3.7 BEEURIN R

T HE I S 38 I 23 ) A 3 25 ) SR I 5 AR 2 1 s -5 e X
PR SN E
Message Device="" OutlookID="4MW555 5" >
<Request Name="ReadCapturePicture” />
<{/Message>
Message Device="">
<Respond Name="ReadCapturePicture”>
<{Row>
<Result>1</Result>
<{ErrorMessage> </ErrorMessage>
<{PictureFront>...... (ZE3L 18 Fr 48 baseb4 it o 745 )
{/PictureFront>
<PictureBack>...... (R H 2 base64 gahl J5 717 H)
{/PictureBack>
<PictureFrontLength>... (38 4 base64 il o 5F 4 K J¥) </PictureFrontLength>
<PictureBackLength>... (3B 4 base64 il Jo #4558 K J¥) </PictureBackLength>

</Row>
</Respond>

{/Message>
AR
i 7] 4
Result ErrorMessage H/E
1 ARIUE Fr )
-1 BN
-1 B R e
-1 A AW BRI T
-1 M 4 A% Bl s

11




B YR
Message Device="" OutlookID="#MUiis 565" >
<{Request Name="Read2DPicture” />
{/Message>

{Message Device="">

<{Respond Name="Read2DPicture”>
<{Row>

{Result>1</Result>

{ErrorMessage> </ErrorMessage>

<{PictureFront>...... (AL E 24 baseb4 4wt Jo A7)

{/PictureFront>

<PictureBack>...... (IR 4 baseb4 Fntid G #1745 H)

{/PictureBack>

<PictureFrontLength>... (I#} B4 base64 4ifd G 715 & K &) </PictureFrontLength>
<PictureBackLength>... (fif 4 base64 %ifd g 715 & K &) </PictureBackLength>

</Row>
<{/Respond>

{/Message>
IR
IR [ S5 5
Result ErrorMessage HE
1 ARIUE Fr )
1 BAF AR A B
-1 B HREN il
-1 BT AW BRI %
-1 My e 7 ) M e

BRURGCK E  42

Message Device="" OutlookID="4W5 5" >

<Request Name="ReadPicturelLocation” />

{/Message>

Message Device="">

<{Respond Name="ReadCapturePicture”>

<{Row>

{Result>1</Resul t>

{ErrorMessage> </ErrorMessage>
{PictureFront>...... (RS0 R R A7)
{/PictureFront>

{PictureBack>...... (ZERIE R B8 1%)
{/PictureBack>
<{PictureFrontLength></PictureFrontLength>
<{PictureBackLength></PictureBackLength>

12




</Row>

<{/Respond>

{/Message>
IR
IR [l 45
Result ErrorMessage HE
1 AR L)
-1 G ESEE
-1 B R e
-1 A AW BRI T
-1 M 4 A% Bl s

L YRR AR
Message Device="" OutlookID="4W555 5" >
<Request Name="Read2DPictureLocation” />
<{/Message>
Message Device="">
<Respond Name="ReadCapturePicture”>
<Row>
{Resul t>1</Resul t>

<{ErrorMessage> </ErrorMessage>

<{PictureFront>...... (R — i B #42)

<{/PictureFront>
<PictureBack>...... (AL — 4 i 42)
<{/PictureBack>

<{PictureFrontLength></PictureFrontLength>
<{PictureBackLength></PictureBackLength>

</Row>
</Respond>

{/Message>
AR
AR 7] 4
Result ErrorMessage I
1 ARIUE BT
-1 AT AR R B0
-1 B R e
-1 A AW BRI T
-1 e 7 2 M e

13




3.8 FTEM#

I I 73 99l A 2 2 R UG DN 5 AN 2 B ARG DN 5 R A T BN o B
RIE:
Message Device="" OutlookID="#MUiis 565" >
<{Request Name="PrintReport” />
{/Message>
{Message Device="">

<{Respond Name="PrintReport”>

<{Row>
{Result>1</Resul t>
{ErrorMessage>
{/ErrorMessage>
</Row>
<{/Respond>
{/Message>
UK
IR [A] 55 5 .
Result ErrorMessage HE
1 FRINAT BN R
-1 AT AR B
-1 A T BRI Bt

3.9 145 i+ RS A QL SR IR I K3

{Message Device="" OutlookID="">
{Request Name="ReadTestResultByPlate”>
<{Row>
{License>ZEHH 5 #</License>
<LicenseType> T F A%< /LicenseType>
</Row>
<{/Request>
<{/Message>

T S E A L 2
3.10 4% VIN F& 3R EUS U £ s

Message Device="" OutlookID="">
{Request Name="ReadTestResultByVIN">
<{Row>
<VINDVIN AE</VINY
</Row>

14




<{/Request>
{/Message>

3.11 &K S AR U U K e

Message Device="" OutlookID="">
<Request Name="ReadTestResultByLSH”>
<Row>
<LSH>¥iL7K 5 </LSH>
</Row>
<{/Request>
<{/Message>

3.126. 9. 10. 11 Huah G AR 45 v i S A

Message Device="">
<Respond Name="ReadTestResult”>
<{Row>
<Result> </Result>
<{ErrorMessage></ErrorMessage>
<{Length> </Length>
<Width> </Width>
<{Height> </Height>
<{VanLength> </VanLength>
<VanWidth> </VanWidth>
<{VanHeight> </VanHeight>
<{LeftHeaderHeight> </LeftHeaderHeight>
<{RightHeaderHeight> </RightHeaderHeight>
{WheelDistance> </WheelDistance>
{KerbMass> </KerbMass>
<{LengthJudge> </LengthJudge>
<WidthJudge> </WidthJudge>
<{HeightJudge> </HeightJudge>
<{HeaderJudge> </Header]Judge>
<{WheelDistanceJudge> </WheelDistanceJudge>
<{KerbMassJudge> </KerbMassJudge>
<{TotalJudge> </TotalJudge>
{TestTime> (’yyyy-MM-dd HH:mm:ss”) </TestTime>
<{QclcLength> </QclcLength>
<QclcWidth> </QclcWidth>
<{QclcHeight> </QclcHeight>
</Row>
</Respond>

15



{/Message>
T =R SRAS I (3R A5 B8R Bk =, R i AN T B A E U, Horp
A R TR (5] Ay

Result 1: EUERID -1: SRHURIK
ErrorMessage W 5 ]
Length SEIHKCEE, mm
Width S FERE, mm
Height SEW S, mm
LeftHeaderHeight LA AR, mm
RightHeaderHeight SEW AT AR S, mm
WheelDistance seiigmiE, A% BhEE L4mEE 2/4mEE 3/4hEE 4, W
AHyAs, . 1800/, mm
VanLength S B AR, mm
VanWidth S BEAE LS, mm
VanHeight S ERFE =, mm
KerbMass SEI LS R E, kg
LengthJudge KEHEER: A% AEH
WidthJudge WIEHES R G ASkE
HeightJudge EEHESR: Gt NG
Header Judge ERmEEAESER: & A5H
WheelDistanceJudge FEEHAELIR: &% A&k
KerbMass Judge BETRAEER: S TE%
Total Judge BEHESR: Ok NGk
TestTime Rl E]: “yyyy-MM-dd HH:mm:ss
QclcLength FHPARRRESFEKE, mm
QclcWidth TR ES R, mm
QclcHeight FHBR AR ESEEE, mm
i :
IR (A 2 5
Result ErrorMessage E e
1 SR
-1 BAF AR B
-1 po&eRent ESlvoalllpvern
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R 1. MR

ARG pooe/ By

0 AR

1 W L

2. SHHIE

ARG SHHiE

01 R

02 5 hiL

03 9 Rt

04 ey

F3. kA

5 A5 2R

1 B11 AW

2 B12 A

3 B13 BRI EE

4 B14 HRPAR P

5 B15 BRI P
6 B16 A A

7 B17 FHAVEFRR A 2
8 B18 B ACEHESE
9 B19 HAGR R

10 B1A HREIUE
11 B1B BRI PR P
12 B21 o R E R

13 B22 ARl RV CEE

14 B23 AR EE G

15 B24 HR RSP R

16 B25 R AR A AR Y
17 B26 R E R

18 B27 rh R R S F R R
19 B28 RN e 2 i
20 B29 ALY e

21 B2A HR R TR
22 B2B RSP
23 B31 BAEE

24 B32 BRI A EE

25 B33’ BRI

26 B34 BASEHCEEEE

27 B35 BRI

28 B36 A A
29 B37 B E S

30 B38 BRELE S
31 B39 AR HEE
32 D11 TCH G

33 D12 HHLHE

34 FO1 HiT%E

35 F02 —BE

36 F03 FHEE
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37 FO4 BN

38 F05 BEIE

39 F06 W BT

40 FO7 IR SRS

41 F09 HAbAENLB)

42 G11 BRI E e
43 G12 BRI EHE
44 G13 ERE eSS
45 G14 ERPER A
46 G15 AR S
47 G16 B AR
48 G17 BRI OMASHE
49 G18 HAR RS
50 G19 BRLHE S
51 G21 rh R e
52 G22 PR A E
53 G23 RS
54 G24 AR SEAR R
55 625 HRIER SR
56 G26 PRI E e
57 627 FR G ESE
58 G28 AR R A
59 629 FRIE IR A
60 G31 BRI W AeEE
61 G32 BRHA S
62 G33 BRI SEE
63 G34 BARSPR A
64 G35 BAHHEET
65 G36 B oA SHEE
66 G37 B R
67 G38 BRGIHE 2
68 H11 A4

69 H12 ERF A E

70 H13 iR frils

71 H14 B

72 H15 RSP T

73 H16 ARSI

74 H17 EAHE L

75 H18 HAVERIR A5 A0 1R 4
76 H19 Gt ROy W

[ H21 rp AR a1 4

78 H22 Hh AR PR AR

79 H23 Hh T A O 4
80 H24 Hh R TR

81 H25 H RSP AR B

82 H26 Hh ARG R A

83 H27 R E
84 H28 rh TRk 25 F T2 4
85 H29 A I
86 H31 BRE T
87 H32 BRI R E

88 H33 BT E
89 H34 BRI E

90 H35 BRIP4

18




91 H37 BRAETRE
92 H38 L L STy RAY AN
93 H39 BRI E
94 H41 Tl B 3 67

95 H42 A T =B

96 H43 TR P B
97 H44 T E TR

98 H45 R g B

99 H46 ([CELLE RAY AN
100 H47 [EeEREy Wi
101 H51 T R
102 H52 i AT B
103 H53 FE AR T
103 H54 H ERIE B
104 H55 AR T 4
105 Ji1 LI
106 J12 LB pak i IR
107 J13 i 3T L
108 K11 KA @R
109 K12 KIS 7
110 K13 KA BMf & 4
111 K14 KB HR 2R
112 K15 KA % 7
113 K16 KAV

114 K17 KRR
115 K18 KB
116 K21 I R 4
117 K22 AR R T
118 K23 rh R BN & G
119 K24 PR R A
120 K25 rp R R 2 A
121 K26 Hh AR A

122 K27 FRE R
123 K28 AL R
124 K31 N R 2R
125 K32 NIRRT 7 7
126 K33 INRUER 2

127 K34 N R R
128 K38 NI RS 2R
129 K41 AR R
130 K42 TR T K 2
131 K43 AR 4 4

132 M11 Wi F =5 BEHL A
133 M12 B IE=8 LA
134 M13 IE =R LS
135 M14 IE =R IR E
136 M15 M =% BEFELE
137 M21 W R BTG
138 M22 L o
139 N11 =R

140 Q11 B
141 Q12 ER R
142 Q21 AR | R
143 Q22 rh A kA | R
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144 Q31 BRI
145 Q32 BRI R R
146 RO1 TB 24

147 RO2 TH I

148 T11 KIS R
149 T21 NS S HE AL
150 T22 FHABFIHL

151 T23 FHA LB
152 X99 He

153 711 KL THEN
154 721 R L IR
155 731 LB TEML
156 741 I T 2
157 751 AL IEE
158 771 BTG IE A
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